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H0
02
=

18,246 24,022 A5,776
9,123
3,649
5,474

MW

307 21201 & 18,246 24,022 Nb,776
9,123
3,649
5,474

HH W

e 18,246 24,022 N5, 776
At 18,246
i 18,246,000 18,246

9,123
3,649
5,474

Mo R

IrotE2EsE K& 2,675,628 1,737,279 938,349
1,066,788
1,182,125

426,715

Mo A

307 21201 & 2,675,628 1,737,279 938,349
1,066,788
1,182,125

426,715

MR
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A Eoldd
HHM: 04 -0l SXNSE(MISX/ES - H=ELAHL)
ol OHAGHD 2 4 UE BRHY T4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
10 A3l S X2 = 2,675,628 1,737,279 938,349
O=HIEX AL 1,715,099
—gdRotEsz K& 1,715,099, 000& 1,715,099
= 1,066,788
< 221,596
e 426,715
OEHIEXAY 960,529
— 34N =celtE 312,028,000& 312,028
< 312,028
—S5Ml sl td 648,501,000 648,501
< 648,501
EF WAL B0 SH| 500 500 0
= 250
< 100
s 150
307 21201 A 500 500 0
= 250
< 100
[ia 150
10 AFRISXIE X 500 500 0
O=HIEXZ AL 500
—BFUAM Bx=nSH| 500,000 500
= 250
< 100
[ia 150
s X 1,062,654 2,391,300 A 1,328,646
= 659,761
< 138,989
[ia 263,904
301 et a3z 1,062,654 2,391,300 A 1,328,646
= 659,761
< 138,989
i 263,904
01 MEIBEE 263 1,062,654 2,391,300 A 1,328,646
O=HIEXZ AL 1,062,654
—JHEYEE & 1,062,654,000& 1,062,654
= 659,761
< 138,989
s 263,904
2sAE 1& 166,300 159,300 7,000
307 glz2+ol & 166,300 159,300 7,000
04 QIZtHAIE XS 7,000 0 7,000
Otz Heold deg2ssl 7,000,000 7,000
10 A2l =S X2 X 159,300 159,300 0
OBSANEESAX 325 M 5,000,000& 5,000
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A Eoldd
Ha: 04 0t EXNET(MIAZX/ES - IEL0H)
ol OHAGHD 2 4 UE BRHY T4 CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
ESAE HAots 2tAldl X&
62,400, 000& 62,400
oxg2dgdl XN& 16,800,000 16,800
OESAE MRAHZ2OSEH K&
1,500, 000& 1,500
OBSAESAMN =2 XA 56,600
—HAHEZEY 45,600,000 45,600
—ZEHAFE 11,000,000& 11,000
OAZAZTE WAL Q124 H| 12,000,000& 12,000
OBSAESANA 82U 5,000,000 5,000
ESAE dEdE"gE N& 3,070 3,952 A 882
< 1,535
s 1,535
307 21201 A 3,070 3,952 A 882
< 1,535
[ia 1,535
10 A2l S X2 X 3,070 3,952 A 882
OEHIEXZAY 3,070
—EsANdE HHEEZ K& 3,070,000 3,070
< 1,535
[ia 1,535
OtOIALE 222LIHEH K& 4,882 4,882 0
= 2,441
= 976
= 1,465
307 21201 A 4,882 4,882 0
2 2,441
< 976
[ia 1,465
10 A2l =S X2 X 4,882 4,882 0
OZ3HIEx= A 4,882
—OlOIAM Y RER22LIHEH XA
4,882,000& 4,882
2 2,441
< 976
e 1,465
SHE &M geldeold X3 2,760 0 2,760
= 1,380
S 552
s 828
307 glz2tol & 2,760 0 2,760
= 1,380
= 552
s 828
10 A3 =X 2 X 2,760 0 2,760
OZHIEx= At 2,760




A Eoldd
Ha: 04 0t EXNET(MIAZX/ES - IEL0H)
SOl QPAIGHD U £ Us BSHY I4 EERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—sSO0HEAM HAMS0E K&
2,760,000 2,760
= 1,380
< 552
e 828
SO0ISESXNJHEH HE 50,000 0 50,000
401 A& HIZ 201 Y] 50,000 0 50,000
01 A& HI 50,000 0 50,000
OS|OISEXNJME A £HES & 2l
50,000, 000& 50,000
=38 elol& CCTV &X 40,000 0 40,000
401 Al HIZ 201 I 40,000 0 40,000
01 A& Bl 39,568 0 39,568
O=38 H&old cC1v & X 39,568,000& 39,568
03 Al S THHI 432 0 432
O=38 ogold CCTv & X
40,000, 000% *1.08/100 432
e 0lABIEHAEXIZ0l MHIA 11,332 0 11,332
< 5,666
e 5,666
307 glz2+ol & 11,332 0 11,332
< 5,666
e 5,666
10 A3l S X2 X 11,332 0 11,332
OEHIEX=AY 11,332
— HE0IADIEAE X ZOIMEI AR S ALY
11,332,000 11,332
< 5,666
s 5,666
Had A¥SH(MI=X/e0 - HAH) 285,048 288,566 A 3,518
J| 75,810
< 21,220
s 188,018
dad dF0H =4 233,428 231,946 1,482
J| 60,000
< 21,220
[ia 152,208
NZELAESENINASIZ 80,000 80,000 0
J| 40,000
[ia 40,000
101 @14l 52,000 52,000 0
J| 26,000
[ia 26,000
04 JI12ZtHZ22HEE =+ 52,000 52,000 0
OJIS A 52,000
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X ZH -
L= B

el

01 04 & It
A HESH(MIZT /0 - HAH)
AEAE 29 L OIBEs

x 5 - 4
SA BB (SH) - NRAY - B Ol At o %@i HRE2
| = 1,250
HAULHAANLE T2 29 9,400 9,400 0
J| 4,700
= 4,700
201 LBt 9H]| 6,000 6,000 0
J| 3,000
= 3,000
01 AP 22| d| 6,000 6,000 0
OJla Mg 6,000
—~HAUSHIN T2 29
6,000,000 6,000
J| 3,000
= 3,000
307 2I2t0| & 3,400 3,400 0
J| 1,700
iy 1,700
04 Q2 AIE XS 3,400 3,400 0
OJI=2 Mg 3,400
—HAUdSEA T2 29 3,400,000 3,400
J| 1,700
= 1,700
HAE AIE XA BEX 18,720 18,720 0
J| 9,360
= 9,360
307 QI2t0| ™ 18,720 18,720 0
J| 9,360
= 9,360
02 A2AtAMNEXZ 18,720 18,720 0
OJI=2 Mg 18,720
— & A2 XS AF BEX
1,560,000& x1H ~12& 18,720
J| 9,360
= 9,360
HAE Al 22 20,000 25,000 A5,000
401 Al HI L 204 HI 10,000 10,000 0
01 Al&H| 10,000 10,000 0
OFAGESHZ WES 10,000,000& 10,000
405 XHAHFEI S HI 10,000 15,000 A5,000
01 XAt 2 ZF S| 10,000 15,000 A5,000
OFAUdLHH 22 5,000,000& 5,000
OFAURFE 29 =EF1Y 5,000,000& 5,000
HE2AHH (=) (IIEH/DIEH) 20,650 20,650 0
Jl2&ddl 20,650 20,650 0
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M HE2GFU (=0 A )(I1EHIIE
chelr D123l
SA - ZE-B(EA) - NRAY - B S il &t o il
Jl23l 20,650 20,650
201 LBH2d| 8,650 8,650
01 At 2t 2l 8,650 8,650
O el 8,650,000 8,650
202 oddl 9,000 9,000
01 SLHOIYI 9,000 9,000
ORM2YG (A MOIL, F3& &4 5)
9,000,000 9,000
203 YR =2l 3,000 3,000
04 NI FZ=AH 3,000 3,000
ORAN2EIRFEHI 3,000,000& 3,000
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